o
[N

o
N

<o @> (rad)
o
=
a1

107 1

...................................

[y

L d -

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

-

1

—s=— DQM_V0001_R000000001__Global__mkFitOLD__RECO
—— DQM_V0001_R000000001__Global__mKkFitNEW__RECO

=
o
o

o)
o
I

< 00, > (M)

o S S—

OfF--------- qe.-u---.;-- ii‘.‘""‘*{»‘ +

prS MRNRR N S— {—

-

Lol

Ratio

[y
TTTT] T

0.95

1071 1

<op/p. > (70)

1071 1 10

I2 3
- (PCA t%)obeamlin%)o

—~

<od,> (um

Ratio

100

80+

60f -+

40+ e+

| SEERRPPRN 1

0.95

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


